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EXPLOITING:

All the structures made in this project
follow the same role. Some are smaller
because it is important to make a diffe-
rentiation between those traffic lights that
are used by the vehicles and those which
are used by the pedestrians. Also the
arrow’s traffic light, which is also used by
vehicles, is as big as the pedestrians’.
Even though this fact, some pieces like
the arm or the gasket which is located
between the arm and the body, remain
exactly the same. Saving thus extra
pieces and making the project cheaper.




